
Quadratic 3 

 

 

  

 

  

  

 

  

  

 

 

 

 

 

 

 

 

 

 

 

Yue Kwok Choy 

4/8/2021 

 

𝑥2 − 5𝑥 + 5 = 1 ⟹ 𝑥2 − 5𝑥 + 4 = 0 ⟹ 𝑥 = 1, 4 

𝑥2 − 11𝑥 + 30 = 0 ⟹ 𝑥 = 5, 6 

𝑥2 − 5𝑥 + 5 = −1 ⟹ 𝑥2 − 5𝑥 + 6 = 0 ⟹ 𝑥 = 2,3 

Solve   𝒙𝟐 − 𝟓𝒙 + 𝟓 
𝒙𝟐−𝟏𝟏𝒙+𝟑𝟎

= 𝟏 

Case 11𝑛 = 1 

Case 2𝑛0 = 1, 𝑛 ≠ 0 

When 𝑥 = 5, 6, 𝑥2 − 11𝑥 + 30 ≠ 0 

Case 3(−1)𝑒𝑣𝑒𝑛 = 1 

When 𝑥 = 2, 𝑥2 − 11𝑥 + 30 = 12(𝑒𝑣𝑒𝑛) 

When 𝑥 = 3, 𝑥2 − 11𝑥 + 30 = 6(𝑒𝑣𝑒𝑛) 

Hence,  𝑥 = 𝟏, 𝟐, 𝟑, 𝟒, 𝟓, 𝟔 

 

Quadratic equation 

Solve  𝑥2 − 5𝑥 + 5 𝑥
2−11𝑥+30 = 1 


